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The scatter diagram (with histograms on the sides) below is based on a data set containing average number

of yearsin education and average annual income (in Canadian dollars) of incumbents for 106 occupations in

1971. Each dot shows one occupation’s average number of years in education and average annual income in

the data set. In round numbers, the standard deviation for education is about 2.7 number of years and that

for annual income is 4,200 dollars.

1.  Two lines pass through the cloud of dots on the scatter diagram. Which is the regression line?

(a) Solid-Gray (b) Dashed-Black

2.  The correlation coefficient between education and income is about

(a) -0.2 (b) -0.5 (c) 0.2 (d) 0.6 (e) 0.9.

3. The average annual income (t6>the nearest thousands of dollars) of incumbents for occupations having an

average number of years of education one standard deviation below average is about

(a) 2,000 (b) 4,000 (c) 6,000 (d) 8,000 (e) 10,000.

4.  From the regression line, the average annual income (to the nearest thousands of dollars) of incumbents for

‘occupations having an average number of education of 16 years is about

(a) 8,000 (b) 9,000 (c) 11,000 (d) 13,000 (e) 15000.

5. Foritems 3 and 4 above, which one of the two estimates is likely to be more accurate?

(a) item 3 (b) item 4.
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